ANEXO 1: RESULTADOS OBTENIDOS CON EL PROGRAMA DE ELEMENTOS
FINITOS EverFe 2.24

ESPESOR 60mm SOPORTE NORMAL

= 7 out 'DDQBE M |l|| FILE | SOLVE | VISlIALIZEl HELP

Geometry | Material | Loading | Dowel | Interiock | Meshing

Slab Layout

T
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& 4 row: 1column

2 rows; 1 column
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£ 3 rows; 1 column

Column 1 Length (< mm) 200
€ Arow: 2 columns R 1 width (7 100
2 rows: 2columns Slab Thickness (2 mrn) 0
3 rows: 2 columns. Firct Skew fingle [degifl
© trou colmns | Second Skew dnge (deal0
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Base and Subgrade
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© tLayer Layer 1 Depth [ mm)| 350 =

& 2layer Laper 2 Depth @ mm| 500 5
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Loading | Dowel | Interlock | Meshing

Geometry Material

Slab: E (Pa][28000
njoz
alpha fper deg E]m
dersiy [kgém 3] 2400

Base: E (P3| 200
0.3
density fkg/m"3)| 100
Subgrade 1: E [MPa)|35
0.4
density fka/m™3)| 1500

Slab/Base Interface: [V Bonded Base
Dense Liquid Subgrade: I™ Tensionless
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DI

v #of Temp. Changesf2 5
L Temp. Change 1(dea €0 =

% Temp. Change 2 [deg C[0
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= 7m out IEMZTS ZMIn | FILE | SOLVE |V'ISIJALIZE| HELP

Max/min Principal Stress Values per Slab:

WAX: 2.24067MPa

¥: 49.95mm
Z:-0.01mm

4 ] H
' Results for Points:
] Smax= 2241MPa Smin= -1584MPa
" Soe= 2240MPa  Syy= 0808MPa Sz= -1583MPa
Sxy= 0000MPa Syz= 0000MPa Szx= -0049MPa
2 Dix=-222.017mm  Dyy= -0.000mm Dz= 49.905mm
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Th EverFE 2.24 Unit System: metric

Current Project: adoq_
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PARA ESPESOR 80mm SOPORTE NORMAL

zwout [Ta00 zwm | e | sowve | wisuaze | Hep

Max/min Principal Stress Values per Slab:

WAX: 1.73486MPa
¥: 0.0mm

Z 0.01m
WIN: -2 522020Pa

Y: 48.95mm
Z 0.01mm

|

| »] -
Results for Points:

Smax= 1795WPa Smin= -1599MPa

179410Pa Sy= 0692MPa Szm= -1599MPa

= 0.000MPa  Syz= 0.000MPa Sz= -0.043WPa
Dw=-222016mm Dy= 0000mm Dzz= 49.929mm
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Unit System: metric

Current Project: adog_1 (A Solution Exists)
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Current Project: adog_1
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ESPESOR 60mm SOPORTE BLANDO

ZMOuI' 000 ZMll\‘ FILE ‘ SOLVE ‘V\SIJALIZE‘ HELP

Max/min Principal Stress Values per Slab:

WAX: 1.93086MPa

|+ =H
Results for Points:
Smax= 1785MPa Smin= -1566MPa
1780MPa Syy= 0745MPa Sz= -1562MPa
| -0.000MPa S 0.000MPa Sz = -0.126MPa

X =-206.600mm  Dyy= -0.000mm Dz= 60.678mm
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| Th EverFE 2.24 Unit System: metric Current Project: adoq_1 (A Solution Exists) = B

| Zm out '1 0000 ZM In ‘ FILE ‘ SOLVE |VISIJALIZE‘ HELP
! Plane to View:
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Unit System: metric Current Project: adoq_1 (A Solution Exists) = B
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Current Project: adog_1
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ESPESOR 80mm SOPORTE BLANDO

ZM Qut .T o000 ZM in | FILE | SOLVE ‘ V\SLIALLZE| HELP

J

Max/min Principal Stress Values per Slab:

WAX: 152883MPa

¥: 49.95mm

Z: 0.01mm
WIN: 2 51671WPa

Results for Points:

Smax= 1.431MPa Smin= -1.578MPa
Sm= 1426MPa  Syy= 0643MPa
S

8 -1573MPa
0000MPa Syz= -0000MPa Sz= -0.114MPa
06598mm  Dyy= -0000mm Dz= 60707mm
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Los diagramos son los mismos



ESPESOR 60mm SOPORTE RIGIDO

zwout [0 zwm | e | sove | wisuawze | HeLe

Geomelryg Material | Loading | Dowel | Interlock | Meshing

Slab Layout
!

% 1row; 1column

" 2 rows: 1 column.

LR Column 1 Length (< mm)[200 =
€ trow. 2columns. Fow 1 width (¥ mm)| 100

™ 2 rows: 2 columns Slab Thickness 2 mm)[B0
2 rows: 2 columns First Shew bngle el
 trow Sootumns | Scond SkewsngleldegT =
" 2 rows: 3 columns

" 3 rows; 3 columns

Base and Subgrade
T

(ol No Layer

O ALayer Layer 1 Depth @ mm]’gﬂ
& 2Layer Layer 2 Depth 2 mm)| 350 >
o alayer

FILE | SOLVE ‘ VISLIAL[ZE| HELP

ZM Out .1 0000 ZMin |

Geometry :Material;| Loading

Dowel | Interlock | Meshing

Slab: E (MPa]| 28000
nj0z
alpha [per deg C]]1.1e-005 2
density (kg/m™3) 2400

Lelalr 4]

L4l

L)

Base: E (MPa)| 5000
|02
density (ka/m”™3)| 0
Subgrade 1: E [MPa)| B0
035
density (ka/m 3|0 =

RIC RS RTE RIS

Slab/Base Interface: [ Bonded Base

:::;W“ Iniial Stifness MPa/mr 1 ]
SipDisp RSV gjpp G |

Dense Liquid Subgrade: ™ Tensionless

K MPa/mm[0.03 é‘

zwout [T0000 zwm | ALE | sowve | wisuauiz | HELPJ

Max/min Principal Stress Values per Slab:

WAX: 0.31671MPa
X: 75.0125mm
Y: -49.95mm

WIH: -1.0283MPa
X: 0.05mm

¥: 37.4625mm
Z 0.01mm

Results for Points:
Smax= -0.008MPa Smin = -1.010MPa
Soc= -0.008MPa  Syy= -0022MPa  Sz= -1010MPa
Syy= 0000MPa Syz= -0000MPa Sz= 0004MPa
Dxx=-130.611mm Dy = -0.000mm Dz= 37.740mm
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EverfE 2.24

Unit System: metric
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Current Project: ADRSL
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Plane to View:
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X¢ AaBbCc 4o
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Stress to View:
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Current Project: ADRSL

Stress (ViPa)

103 -0.768 0.506 -0.244 0.0179
L — I .




T

EverFE 2.24

Unit System: metric

Current Project: ADRSL (A Solution Exists)
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- O

Plane to View:
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Stress to View:
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Current Project: ADRSL
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ESPESOR 80mm SOPORTE RIGIDO

A zm Oui. 0000 ZM In ‘ FILE ‘ SOLVE ‘VISUALIZE‘ HELP

WAX: 0.2107MPa

MIN: -1.054220Pa

X: 0.05mm
Y: 37.4625mm
Z: 0.01mm

Max/min Principal Stress Values per Slab:

Results for Points:

Tk EverFE 2.24 Unit System: metric

0.001MPa Smin= -1.037MPa
-0.001MPa  Syy= -0.013MPa Sz= -1037MPa
J Sxy= 0000MPa Syz= -0000MPa Sz= 0.006MPa
Dox=-130611mm Dyy= -0000mm Dz= 37758mm
i 2 om0 2| ziwmfo 4
Current Project: ADRSL (A Solution Exists) = = ‘RO
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Plane to View:
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Stress to View:

© ManPincpal MinFincpal " S -

Current Project: ADRSL

Stress {ViPa)
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EverFE 2.24 Unit System: metric Current Project: ADRSL (A Solution Exists) = B [RO

;:JZM Out 'DBWDD ZMIn | FILE | SOLVE |VISIJALIZE| HELP 3C¢ AaBbCc¢ A:

Plane to View: 21 Traez T
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Current Project: ADRSL
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ESPESOR 80mm SOPORTE NORMAL CARGA MAX PUERTO

=1 zmout ID4305 ZMInl FILE | SOLVE |VISUALIZF_| HELP

Geometry | Material | Loading | Dowel | Interock | Meshing
Slab Layout

T
& 1row; 1 column
2 rows: 1 column
€ 3 rows; 1 column Colurn 1 Length (X mm]|200 =
€ Arow; 2 columns Fiow 1 Widkh (Y mml 100 3
€ 2 rows: 2 columns. Slab Thickress [Z mm) 80 -2
€ 3 rows; 2 columns First Skew Angle [degl]D0 =
 trow 3colmns |  SEcondSkewhnge deglld 5
2 rows: 3 columns.
€ 2 rows; 2 columns.

i D

-k
Base and Subgrade

| T
© Holayer
& (o Jr— Layer 1 Depth 2 o[ 450 2
5 & 2laper Laver 2 Depth 2 450 2,
© Zlayer
|

ZM Qut IEI 4305 ZMIn | FILE | SOLVE | VISIJALIZEl HELP

Geometry EMaleria Loading | Dowel | Interiock | Meshing

Slab: E MPal| 28000
mjpz

alpha [per deg C)|1.16-006 =

density (kg/m”3|2400 5

Base: E [MPa) 250
iz
densiy ka/m'H0

Subgrade 1: E [MPa)|50
iz
densiy ka/m'H0
' Slab/Base Interface: I~ Bonded Base

Inital Stffress (MPamm)| 1

Siip Displacement fmm)] .1

(EARd|

Dense Liquid Subgrade: ™ Tensionless
K [MPa/mm] 003 =




FILE SOLVE | VISUALIZE

ZM Out 'EI 4305 ZMIn

HELP J

»

Geometry | Material Loading:| Dowel | Interiock | Meshing

Sl Single Dual Single Dual Mult-
oirag | Whesl | Wheel [ Wheel Wheel | Wheel
= Al Aole: Tandem | Tandem Asle
7 -

il
Load (kNI[125 <
L wmm)|50
— ymmo
L[mm)100 =
Wmm[100 <

h
Top B
# of Temp. Changes|2 =
Temp. Change 1 [deg C0 =
Temp. Change 2(deg Cf0 3
Bottom

=170 Out '[I 10584 ZMIn | FILE | SOLVE | VISlIALIZEl HELP

Geometry | Material | Loading | Dowel | Interiock

Murber of Elements dlongin Colmn 18
Number of Elemerts along *inRom 18
Number of Elements slong Zin Slsbf8
Humber o Elements along Z in Subgrade 18
Humber o Elemens along Z in Subgrade 28

R I IR

Irl-]

Current masimum element aspect rafio: 4.50 ¢ 5

Estimated memory required for this simulation: 138 MB
The amout of RAM curently available on your computer should be
3t least as large s this value to ensure a reasonabls - fime

ZM Out '1 0000 ZM in | FILE | SOLVE | VISLIAL[ZEl HELP

Ll
=

1]

Max/min Principal Stress Values per Slab:

WAX: 3.69226MPa
X: 75.0125mm

Results for Points:
Smax= 0.175MPa Smin = -16.652MPa
Soc= 0.045MPa  Syy= 0.175MPa
Sxy= -0000MPa Syz= -0.000MPa
Dxc=-3411470mm  Dyy= -0.000mm

%m0 R 3 2o %
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EverfE 2.24

Unit System: metric

Current Project: ADPUERT (A Solution Exists)
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N
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Plane to View: 21 Thue2 1
vz
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Stress to View: ‘alues per Slab:
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EverfE 2.24

Sy

Current Project: ADPUERT

Y
Stress @)
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Unit System: metric Cui

rrent Project: ADPUERT (A Solution Exists)
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Stress to View:

Stress (VIPa)
= -1.95
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Current Project: ADPUERT
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EverFE 2.24 Unit System: metric Current Project: ADPUERT (A Solution Exists) = & [RO
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4 ZM Out 'DSWDD ™ Inl FILE | SOLVE | VISLIAL[ZEl HELP | 3¢¢ AaBbCt A

Plane to View: 21 Tuez
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Stress to View:
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Current Project: ADPUERT
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Stross (UPa)
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EverFE 2.24 Unit System: metric Current Project: ADPUERT (A Solution Exists) — = RO

ul
= zMomIUBmU ZMInl FILE |so|.vg|wsu.\uzz| HELP | )c( AaBbCc A

Plane to View:
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ESPESOR 80mm SOPORTE BLANDO CARGA MAX PUERTO

‘ FILE ‘ SOLVE |VISUALIZE‘ HELP

= zm out '1 0000 ZMIn

Geometry Material

Loading | Dowel | Interlock | Meshing

Slab: E (MPa)[ 26000
02
alpha (per deg C)[1.12-00
density (ka/m™3)| 2400 2

h

Base: £ (MPa)[150
w03
density eg/m" 30

Subgrade 1: £ [MPa)[20
wjid =
density (ka/m"3)|0 =
Slab/Base Interface: I BondedBass
Initial Stifness (MPa/mm)[1 4
Slip D [mm]’m_i‘

Dense Liquid Subgrade: [ Tensionless

K (MPa/mm)0.03 i‘

™ Oul' 000 zm In‘ FILE ‘ SOLVE ‘VISIJALIZE‘ HELP

Max/min Principal Stress Values per Slab:

MAX: 2.77457MPa
X: 75.0126mm

Results for Points:
Smax= 0.216MPa Smin = -16.617MPa
S;x= -0019MPa  Syy= 0216MPa Sz = -16617MPa
J Sxy= -0000MPa Syz= 0000MPa Sz= -0031MPa
Dix=-3179.230mm  Dyy= -0.000mm Dz= 895.315mm
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b EverFE 2.24

Unit System: metric

f:ﬂrent Project: ADPUERT (A Solution Exists) = = R Thule3
—Jzuomw ™ Inl FILE | SOLVE |VISUALIZE| HELP | e

Plane to View:

vz
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& %y Harizontal [S\ah]rﬂ

Stress to View:

€ MaxPrincipal & MinPrincipll Sae (ol

Current Project: ADPUERT
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T EverFE 2.24

Unit System: metric

Stress (VIPa)
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Current Project: ADPUERT
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T EverFE 2.24

Unit System: metric

x
v
Stress (VIPa)
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ol
= zuout]o.ms? m m| FILE | SOLVE | VISUAL[ZEl HELP | BbC( AaBbCc
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T EverFE 2.24 Unit System: metric Current Project: ADPUERT (A Solution Exists) = &
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